GUJARAT VIDYAPITH: AHMEDABAD

M.D. Samaj Sewa Mavidyalay Sankul Faculty of Professional Courses

Proposed Curriculum According to NEP Credit Frame Work Department of Social Work

2023-24

Master of Social Work (MSW)

Availability of Time for direct teaching in each Semester = 15 weeks 15 weeks * 35 hours so total = 525 working hours Monday to Friday (Excluding Prayer and recess) = 30 hours (6 hours * 5 days) Saturday (Excluding Prayer and recess) = 5 hours, Therefore = 35 hours

	MSW SEMESTER-1						
Sr. No.	Course code	Broad Category of Course	Subject Name	Hours	Credits		
1.	SW101	Major- Core	Introduction to Social Science	30	2		
2.	SW102	Major- Core	Philosophy of Professional Social Work	30	2		
3.	SW103	Minor-core	Gandhian Philosophy of Social Work	30	2		
4.	SW104	Major- Core	Social Case work	30	2		
5.	SW105	Major- Core	Social Group work	30	2		
7.	SW106	Core Practicum Community connect	Rural Field work	3 days Per week 6/45=270	6		
8.	SW107	Skill Enhancement	Udyog	6 days (60 Hours)	2		
6	SW 108	Ability enhancement	Hindi or Gurarati or English	30	2		
9.	SW109	Value Adding - Community Life	Community living				
		Total	510	20			

Total Credits = 20 Total hours per semester = 480

Major, Minor Core Courses Credit: 10, Core practicum: 06, Skill Enhancement: 02, Anility Enhancement-2, Value Adding: Community living,

	MSW SEMESTER -2							
Sr. No.	Course code	Broad Category of Course	Subject Name	Hours	Credits			
1	SW 201	Core	Integrated Approach and Communication	30	2			
2	SW 202	Major- Core	Social work Research	30	2			
3	SW 203	Major- Core	Community organization and Social Action	30	2			

4	SW 204	Core	Human Development and Behavior	30	2
5	SW 205	CBCS multi Disciplinary choice base courses	Total Choice – 130 Courses are offered by Various Faculties. Department is offering Two Courses: Child Rights and Life skills Development	30	2
6	SW 206	Major- Core practicum Community connect	Rural Field work	3 days Per week 6/45=270	6
7	SW 207	Community connect and Ability Enhancement	Rural Educational Camp NSS	7 days (2/45=90 Hours)	2
8	SW 208	Skill enhancement	Udyog	60 Hours	2
9	SW 209	Community living	Community living		
		Total		570	20

Total Credits = 20 Total hours per semester 510

Major-Minor Core Courses Credit: 8, Core practicum : 06, Skill Enhancement : 02, multi Disciplinary choice base courses: 02, Ability Enhancement-2, Value Adding : Community living

	MSW SEMESTER -3						
Sr. No.			Subject Name	Hours	Credits		
1	SW 301	Major-Core	Management of Social Welfare and Development Services	30	2		
2	SW-EC 302	Departmental choice base course	Criminology and Social Legislation OR Human Resource and Labour Welfare	30	2		
3	Sw 303	Major-core	Community Health, Mental Health and Medical Social Work	30	2		
4	SW-304	Minor core	Problems of Family, children and Women	30	2		
6	SW 305	CBSE multi Disciplinary	Total Choice – 130 Courses are offered by Various Faculties. Department is offering one Course:	30	2		

		choice base courses	Personality and Carrier Development		
5	SW 306	core	Rural Development and Management	30	2
6	Sw 307	Minor-core	Counseling – Theory and Practice	30	2
7	SW 308	Core Practicum Community connect	Agency Field work	3 days Per week (6/45=270 Hours)	6
9	SW 309	Community Living	Community Living		
			total	480	20

Total Credits = 19 Total hours per semester =450

Major-Minor Core Courses Credit: 10, Core Practicum: 06, Departmental Choices base Courses: 02, multi Disciplinary: 02, Value Adding: Community living,

	MSW SEMESTER -4							
Sr. No.	Course code	Broad Category of Course	Subject Name	Hours	Credits			
4	SW-401	Minor-core	Development of Schedule tribes and Dalit Community	30	2			
3	SW-402	Minor core	Problems of Family, children and Women	30	2			
1	SW-EC 401	Departmental choice- elective	1.Environment and Disaster Management 2.Human Rights and Social Work 3. Social Work with Differently able Persons	30	2			
2	SW-EC 402	Departmental choice- elective	1 Social Work with Women 2 Psychiatric Social Work 3 Social Work with Youth	30	2			
3	Sw 403	Skill Enhancement	Computer – Theory and Practical	60	2			
4	SW 404	Core Practicum Summer Internship	Block Placement	30 Days, 4/45= 180 Hours	4			
5	Sw 405	Major-core	Research Project. 4/30=120=+2/45=90=210 total	120+90=210	6			
6	SW- 406	Value adding- Community Living	Community Living					
	1	570	20					

Total Credits = 20 Total hours per semester = 420

Major-minior Core Courses Credit: 04, Research Project 06, Skill Enhancement: 02, internship-4, Departmental choice base-4, Value Adding: Community living,

Credit Summary

Broad category of course	Semester 1	Semester 2	Semester 3	Semester 4	total	Requ ired
Major-minor-core	10	8	10	4	32	
Research				6	6	
Minor departmental choice base-elective			2	4	6	
Multidisciplinary		2	2		4	
Ability Enhancement	2	2			4	
Skill Enhancement	2	2		2	6	
Value added course- community outreach.core practicum- Field work	6	6	6		18	
Internship				4	4	
Total credit	20	20	20	20	80	80
Total hours	510	570	480	570	1080+ 1050= 2130	1200 + 1200 = 2400

- 1 ડૉ. ગીતા વ્યાસ, અધ્યક્ષ, સમાજકાર્ય વિભાગ
- 1. ડૉ. આનંદીબેન પટેલ
- 2. ડૉ. દામિનીબેન શાહ્
- 3. ડૉ. મનોજભાઇ પરમાર
- 4. શ્રી બંકીમચંદ્ર વસૈયા

5. ડૉ. બાદરભાઇ કુરેશી